MOST & SCHNEID, P.C. 222 Bloomingdale Road Suite 302 White Plains, NY 10605

Invoice submitted to:

Allan Kassenoff c/o Dimopoulos & Bruggemann 73 Main Street Tuckahoe, NY 10707	Catherine Kassinoff c/o Peter Nissman, Esq. 300 East 42nd Street, 14th Fl
	New York NY 10017

March 03, 2020

Invoice # 23049

Professional Services

		Hrs/Rate	Amount
2/4/2020 - CWN	I Read and Review review of email from Gus	0.10 400.00/hr	40.00
2/5/2020 - CWN	I Read and Respond to E-mail respond to email from Catherine regarding report cards	0.10 400.00/hr	40.00
- CWN	I Telephone Call to Matt (2x)	0.20 400.00/hr	80.00
- CWN	I Read and Review review of email from Gus	0.10 400.00/hr	40.00
- CWN	I Read and Review review of email from Allie regarding grades	0.10 400.00/hr	40.00
- CWN	I Read and Respond to E-mail respond to email from Gus, Allan and Catherine	0.10 400.00/hr	40.00
- CWN	I Telephone Call to Lisa and Matt	0.10 400.00/hr	40.00
- CWN	I Read and Review respond to email from Gus and Lisa	0.10 400.00/hr	40.00
2/6/2020 - CWN	I Read and Respond to E-mail respond to email from Allan Kassenoff	0.10 400.00/hr	40.00
- CWN	1 Read and Review review of email from Matt Marcus	0.10 400.00/hr	40.00

Allan Kassenoff			Page 2
		Hrs/Rate	Amount
2/6/2020 - CWM	Read and Respond to E-mail respond to email from Allan	0.10 400.00/hr	NO CHARGE
- CWM	Telephone Call from Allan	0.60 400.00/hr	240.00
2/10/2020 - CWM	Read and Review review of multiple emails	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Allan	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from Matt	0.10 400.00/hr	40.00
- CWM	Telephone Call to Mark Abrams	0.10 400.00/hr	40.00
2/11/2020 - CWM	Writing Letter to court	0.50 400.00/hr	200.00
- CWM	Read and Review review of email from Catherine	0.10 400.00/hr	40.00
- CWM	Letter Letter to court regarding therapy for girls	0.40 400.00/hr	160.00
- CWM	Read and Review review of letter to court from Lisa Zeiderman	0.10 400.00/hr	40.00
2/12/2020 - CWM	Read and Respond to E-mail respond to emails	0.20 400.00/hr	80.00
- CWM	Read and Respond to E-mail respond to email from Lily	0.10 400.00/hr	40.00
2/13/2020 - CWM	Telephone Call from Allan Kassenoff	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Catherine	0.10 400.00/hr	40.00
2/14/2020 - CWM	Telephone Call from Spielberg	0.50 400.00/hr	200.00
2/17/2020 - CWM	Read and Respond to E-mail respond to email from Allyson Kirutzy	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Jill	0.10 400.00/hr	40.00

Allan Kassenoff		Page 3	
		Hrs/Rate	Amount
2/18/2020 - CWM	Read and Respond to E-mail respond to email form Allan regarding Lilly	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Catherine regarding Nanny contact	0.10 400.00/hr	40.00
- CWM	Read and Review review of email from Catherine regarding nanny	0.10 400.00/hr	40.00
2/20/2020 - CWM	Read and Respond to E-mail respond to email from Jill Spielberg	0.10 400.00/hr	40.00
- CWM	Email Correspondence email to all counsel	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Catherine	0.10 400.00/hr	40.00
2/24/2020 - CWM	Read and Review Review of Speilberg letter to court	0.10 400.00/hr	40.00
- CWM	Read and Review review of multiple emails	0.10 400.00/hr	40.00
- CWM	Read and Review Review of emails to Dr. Adler	0.10 400.00/hr	40.00
- CWM	Appearance in Court Appearance in Westchester County Supreme Court before Referee Ratner	3.00 400.00/hr	1,200.00
2/25/2020 - CWM	Read and Review listen to tapes	0.20 400.00/hr	80.00
- CWM	Email Correspondence email to Dr. Abrams (2x)	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Catherine	0.10 400.00/hr	40.00
- CWM	Read and Respond to E-mail respond to email from Alyson regarding first refusal	0.20 400.00/hr	80.00
2/26/2020 - CWM	Telephone Call from Susan Adler	0.40 400.00/hr	160.00
- CWM	Read and Respond to E-mail respond to email regarding court time	0.10 400.00/hr	40.00
- CWM	Appearance in Court Appearance in Westchester County Supreme Court before Referee Ratner	2.20 400.00/hr	880.00

Allan Kassenoff		Page 4
_	Hrs/Rate	Amount
2/27/2020 - CWM Read and Review review of emails from Susan Adler	0.10 400.00/hr	40.00
2/28/2020 - CWM Read and Respond to E-mail respond to email from Allan	0.10 400.00/hr	40.00
- CWM Telephone Call from Brianne Copp	0.10 400.00/hr	40.00
- CWM Telephone Second call from Allan	0.20 400.00/hr	80.00
For professional services rendered	12.20	\$4,840.00
Previous balance		\$40,023.28
Balance due	-	\$44,863.28

Please review this bill carefully. Payment is due upon receipt. If you would like to discuss any part of this bill, please contact this office within 10 days of receipt. If no objection to the bill as presented is made by you within 10 days, it will be deemed accurate and correct.

If monthly payments are not made on an unpaid balance, we reserve the right to add interest as per our retainer agreement.

Any payments that do not appear on this bill will be reflected on your next billing statement.

WE ARE PLEASED TO OFFER THE CONVENIENCE OF PAYING BY CREDIT CARD. WE ACCEPT MASTERCARD, VISA OR AMERICAN EXPRESS. PLEASE CONTACT OUR OFFICE FOR MORE INFORMATION.